Practice Paper- Part II
(syllabus ( Ch9 to Ch16)
Class X for Compartment students
Science
TIME: 2 Hr MM:50
GENERAL INSTRUCTIONS:
i. The Question Paper comprises of five sections, A ,B,C,D and E You have to attempt all the sections.

ii. All Questions are compulsory.
iil. Internal choice is given in Sections C and D.
iv. Question numbers 1 and 3 in section A are one — mark Questions.
v. Question numbers 4 to 8 in section B are two — marks Questions.
vi. Question numbers 9 to 15 in section C are three — marks Questions.
vii.Question numbers 16 and 17 in section D are five — marks Questions.
viii.Question numbers 18 to 20 in section E are two — marks Questions based on practical skills.

Section A
1.Under what condition is the force experienced by a current carrying conductor placed in a
magnetic field maximum? 1
e IRFEUfT & greha & 7 @ fdegd YRmEey gares HAAdH I Hepsra FIdT &7
2.What is renewable source of energy? 1
AT FI AARIONT FIT FT 872
3.Why is reuse a better practice than recycle? 1
Qe : 3TN, YA Th0T § Srer 3qAnh 4t §7?
Section B
4.Differentiate between homologous and analogous organs. 2

AT AR AT 31907 # AR TS AT

5.Write the expressions for the equivalent resistance of three resistors R1 ,R2 and R3

connected in-- i)series ii) parallel 2
et gfaer R1,R2 3R R3 & el genriad wieRiy &1 ¥ faf@v 5@ 9 Aeafaf@d s & daifaa gl

(1) Sofr Ha (2) FATR HA
6. How do Mendel’s experiments show that traits may be inherited. 2
Az & TR & fRE R gTar i Sfal & Sr&Tor 3nefafae g 82
7.Suggest two measures for controlling carbon dioxide levels in the atmosphere. 2
AT & F7efa7 578 IFASS T AT & F6f3d et & fhegr ar gerat 1 faf@v)
8.State two reasons for the need of conservation of forest and wildlife. 2
g TIETOT AR g Sfiael TIETOT 7 3MaRTH §291s & HRUT fQy|

Section C

9. What is earth wire? How it works in our domestic circuits? 3

-HUH TR FAT §? Tg FAR B[ IRUY & & $rI Al 872
10 a) State Fleming’s left hand rule.
b) Draw magnetic lines around a bar magnet. 3
a) WITHIT &l a1 ge¢d faga faf@u |
b) Th B3 YFEde I YEahT IWT ST |

11. How is the sex of the child determined in human beings. 3
AT H Teh Adelia RIY &1 folar-feiRor H& fhar srar g2
12. Mention any three applications of solar cells. 3

i) Why are solar heating devices painted black?
ii) Name two such devices and state two limitations of these.



TeR AT FI fhegr 3TN FHT ol HITST|
i) dR-dr9es FiFaal & qva @I wrell FAT fHar Srar g2
i) O Ry ar gkl & 7 fAfAT 3N gkt & @A o FasT
13. “Energy flow in food chains is unidirectional.”Justify this statement .Explain how the
pesticides enter a food chain and subsequently get into our body. 3
TeT STl H Foll TAAAOT Th &1 TG F i §-50 YA Bl dhded HIfoTT|  FHSIST Hr
ARG [F8 TR Wed Aol 7 3d § 3R T Aa R # F U o Bl

Or
Name the chemical responsible for causing hole in the ozone layer. What may be the
consequences of ozone hole?

N R A B & fav seaerdt wrgs & 7@ faf@u) ieha B & @ gaRons denfaa g2

14. State Ohm’s law. Draw a labelled circuit diagram used for its experimental verification and
also the V-I graph. 3
N 1 FIA QU] @ RERIcAS giSe & 39gFd faegd aRIy &1 RfFgd NS T v-| amw

Hr &Y T
15.List three changes you can make in your habits to become more environment friendly. 3
T @l At wAfeRor AN g 8 39 3w A W 7 e aRade o dhd 82
Section D
16.a)List four properties of the images formed by plane mirrors.
b)What is meant by power of a lens ?The focal length of a lens is -10cm. Write the nature of
the lens and find its power. 5
a) HHAT GUUT @RI ST a0 Gfdfesl & fhegl TR ol T I =8|
b) oF &THAT & FAT AU §? TH oG AT Bl gl 10 cm B 38 o FT yepfar 3R ardAar faf@w)
Or
a)Name the type of mirror that should be used:

i. As a rear view mirror ii. By the dentists.
Also mention the reason of their use
b)The radius of curvature of a spherical mirror is 20cm. What is its focal length.
a) 39 &uuT &1 17 faf@v fGger 3uaer Far ser anfge:
(i) 3B aRT NS AT FEIU @ & AT (i) & Rfhcas garT
geTehl 3UATNAT &1 wROT dT A&
(b) TF IMAT gUUT Y Fehar AT 20 cm FHHN BIHT g FAT &2

17.a)Write two phenomenon involved in the formation of a rainbow.
b)Briefly explain why is the colour of clear sky blue? What would have happened if there was
no atmosphere on earth? Give reason to justify your answer. 5
a) U & Tl H HlA-AY & IREEAT FEATIT g2
b) Hf&IeT H FHSSY foh TUSC AT HT T el F4T giam &1 J2dl 9 I qTcraRor w/gT giar ar a1
gIaT? 319el 3ccR 1 gfte FRoT @ied HIfST|

Or
a)Draw the structure of human eye and label on it the following:
i) Cornea ii) ciliary muscles i) vitreous humour

iv) retina



b)Explain how we enable to see nearby as well as distant objects distinctly.
AT a1 & W RAifeead Afow ik Heafaf@a smer amifea fSfec-

(i) @a #dzer (Fiferam) (i) geamsh AR=T (i) @ egFR (iv) ¥RE g
FHAIST o6 gA e 3 gT &1 a&qu Tosear & HH <@ 9 §?

Section E
18.0bserve the following figure where an object is placed between F1 and 2F1 in front of a
convex lens.

After refraction where will the image be formed. Draw ray diagram to determine the nature,
position and relative size of the image in the above case. 2

A e arT R F7 g FIfSv S@d 3cad o9 & FaeT v 9577 F1 3 2F1 & 72 @1

W & GRaTd SfafdT gl awan? vk IR O g3v S 3uded et A gfafda dr g,
feufa 3k gefrua 3R saw
19. A student has to trace the path of a ray of light passing through a glass prism. List two

precautions he should observe for better results. 2
ts Tt & wig & Bed & JoRe arelr yenrer 0T it gl §| s8¢ uRonA ¥ 39 i &@r ar
aLTAT S FET S TiEe)

20.The rest positions of the needles of a milliameter and voltmeter when not being used in a
circuit are as shown. Determine the least count and zero error in each of these instruments. 2

A fow 1w i A AEsEeY 3R dleedier & [Pufaet & qaffar i 8, o9 9 faeggd aRuy & w2
AT & | 51 I & wgATH A AR YT T B A RS




